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Thieiemperalure reinforcementin Ihe vertical slab

of a T-shaped R.C. retaining wall is

{a) notneeded.

(b) provided equally oninner and {ront taces.

(ch provided more on inner face than on front
face.

{d} provided more on front face than on inngr
face.

Themain reinforcement In the heel of a T-shaped

R.C. retaining wall is provided on

{a} 1oplace perpendicular lowall.

(b} bolom lace perpendicular lowall,

{c} bolhiop and bottom faces perpendicular to
wall,

{d} none of these.

A T-beam roof section has the following
parliculars:

Thickness of slab = 100mm
Widih of rib = 300mm
Depthof beam = 500 mm

Cenlre to centre distance of beams = 3.0m

= 60m
Distance betwzen poinis of contrafiexureis 3.60 m,
The effecliva widih of iange of the beam is

(a} 3000mm (b} 1900mm

(c} B00Omm {d} 1500mm

Efleclive span of beams

In a reinforced concrete T-beam {in which the
llange is in compresion}, the positon of neutral
axis will
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{a) withinllange.

(o) withinwoeh.

(€) dependon the thickness of llangeinrelation
lo 1otal depth and percenlage of
reinforcement.

{d} althe junctionof flange and web.

Thewidtholflange of 2 Theam should bafess than

{8} one-third of the effective span of Tbeam,

{b} distance betweenihe centres of Fbeam. -

{c} width of the {ib plus twelve timas the
thickness of web,

{d} least of all above.

The widih of flange of T-beam, which may be
coasidered o acleflectivelywiththe b depends on
{8) widthof the rib.

{b} overall thickness ol therib,

{c} cfc distancebetween T-beams.

{d) allthe sbove.

The moment of resistance of tha T-beam having
loliowing data; &, = 1000 mm, D, = 100 mm,
b, =300 mm, cover = 50 mm, d= 450 mm and
reinforced with 4 - 25¢ bars. UseM20 and Fe4 15,
{2} 390kNm (b) 180kNm
{c) 260kNm {c) 290kNm

A simply supported llanged beam {isclated} of
span@mis doubly reinforced having web widih
= 300 mm and {langed width = 1500 mm.
Assuming M30 concrele and Fed15 steel, the
effeclive flange widih is:
{a) 1300mm {v) 1200mm
fc) 110mm {d) 1400mm
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Explanations thggd 8eam by 1.5M

()
The effective widih, b,of the flange of an isclated
T-beamis given by,

.bf:: bn‘-bi;—-l»BD,
b, =300mm

I°= 3600 mm
D,= 100mm

&N b= 300+-:-6—+6x100

= 300 + 600+ 600
= 1500 mm < cfc dislance
between beams (= 3000 mm})

(d)
Assuming x,, is in the lange and egualing lofal
comypressive and tensila forces:

087,A,

%= D3Bhly
_ 0.87x415x1963
T 0.36x1000x 20
= 88.44 < 100 mm

6. {d)

7.(d) 8.(b

Sa lhe assumption of r” in lange is correct.

%, max f0F balanced ractengular baam
=0.480/=0.48 x 450 = 216mm

= Itisunder-reinforced sincax, <x, .,

Al
M, = u‘s?f,Aﬂd(1 LY

" lLbd
; 1963 415
- 0.87x415x1963 )(“450{1 —m}
= 280.06 kNm
(b}
As per 1S 456 : 2000, | )
Effective widih, b, = b, b,
(%)
=1+4
b
(Forismatgd T-beam)
=900 a0
(9000)
—=|+d
1500
= 1200mm
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